SOLUTIONS EXAM II \$7 1nº  $\begin{array}{l} \textcircled{O} \\ \end{array} \end{array}$ == f(a)= (-3)(a) (2+2)(1) + 20 = (-6)(4)+200 =-4 => M =-4-3. D 2x + 2xy = 4y = 01FE 8x3 + 2x dy + y (4K) = 8y dy  $\Rightarrow \frac{d_2}{d_x} = \frac{-4\chi_y - \delta\chi^2}{2\chi^2 - \delta \psi} \text{ so for } \left[ \frac{d_y}{d_x} \right]_{\chi=1}$ Not enough information is given by is also needed) (9) A fin= cosix) -tonin -> fin= -sin(x) - sectixs -> f"(x) = - cus(x) - 2 sec(x) (sec(x) fan(x)) (D) x 3 + y 3 = 244 => 3x 2 + 37 dy = 24 dy  $\frac{dy}{dx} = \frac{-3x^2}{3y^2 \cdot 24}$  so for  $\begin{bmatrix} \frac{dy}{dx} \end{bmatrix}_{x=1} y$  is also not Ended so NOT ENDER (6). C A requires product rule but Not the chain rule NOTA-B is a basic form SO NOT B-D requises quotient rule so NOT D for = Tosers) = (oscers) to requires chain rule

D. C tanry) + x2= 4x-3 => sec2(y) dy + 2x = 4 pg dwo  $\sum \left[ \frac{d_3}{d_x} \right]_{(1,0)} = \frac{4 - 2\alpha}{sec^2(a)}, \quad \frac{2}{1-2} = \frac{d_y}{d_x}, \quad \frac{4 - 2\alpha}{sec^2(y)}, \quad \frac{2}{1-2} = \frac{d_y}{d_x}, \quad \frac{4 - 2\alpha}{sec^2(y)}, \quad \frac{2}{1-2} = \frac{2}{1-2} = \frac{d_y}{d_x}, \quad \frac{4 - 2\alpha}{sec^2(y)}, \quad \frac{2}{1-2} = \frac{2}$ 50 m=2 => y-0=2(x-1)= (y=2x-2)  $(B_{B} = \frac{(2x-1)}{(x^{2}+x)} = f'_{(x)} = \frac{(x^{2}+x)(2)-(2x-1)(2x+1)}{(x^{2}+x)^{2}} =$ (9. C  $\tan(x+y) = 5x \implies \sec^2(x+y)(1+\frac{dy}{dx}) = 5$ (D). A =)  $\frac{dy}{dx} = \frac{5}{5n^2(x+y)} - \left| \Rightarrow \left[ \frac{dy}{dx} \right]_{00} = \frac{5}{5n^2(0+0)} = 5$ ID. V= STIT'S Find St. differential count given du=24TT De du - de - dk No de 4em we weed to eliminate h, but we do not have a value for V to do so. = NOT ENOLIGH LUSO GIVEN 15 I discorded this item.

(3) fixs = x 4 secces (product rule) F => f'(x) = [x 4 secces fam(x) + secces (4x3)] Pg 3hree (14). fix)= (-x - 5 - x - 2) -3 (chain rule)  $=f(x)=\left(-3\right)\left(-x^{5}-x^{-2}\right)\left(5x^{-6}+2x^{-3}\right)$ (15)  $f(x) = \frac{4x}{x^{1/4} - \tan(x)}$  (quotient rule)  $\Rightarrow f'(x) = \frac{(x^{1/4} - \tan(x))}{(x^{1/4} - \tan(x))(4) - (4x)(1/4x^{-3/4} - \sec(x))}$   $= f'(x) = \frac{(x^{1/4} - \tan(x))(4) - (4x)(1/4x^{-3/4} - \sec(x))}{(x^{1/4} - \tan(x))^2}$ (b).  $f(x) = \sin^2(x^2) = (\sin(x^2))^2 (chain rule <u>TWICE</u>)$ =>  $f'(x) = [2(\sin(x^2))'(\cos(x^2)(2x))]$ (I) fix)= cos(x)(x 3/4x ) (product rule) =>  $f'(x) = (cos(x)(3x^2 - 8x^{-3}) + (x^2 + 4x^{-3})(-sin(x)))$ 

(8)  $f(x) = \frac{x^2 + 5}{x^5 + 2}$  (Anotient rule) Pg your = f'(x)= [(x 5+2)(2x)-(x 2+5)(5x4) <(x 5+2)<sup>2</sup> (3). fix)= 2x + 3x - 12x => (f'1x) = 8x3-6x-3-12 => f"x = 24x 2+18x-4 Do fix)= X + tan (2x) (chain rule) =)  $f(x) = 1 + \sec^2(2x)(2) = 1 + 2\sec^2(2x)$ => f"(x) = 2(2 sec(2x)(2)) (2V. x 3 + 5x y = 34 (22. - (US(X+44)) = 2X =>  $3x^{2} + (5x^{2})(2y + (y)(10x) = 3 = 3 = 1)^{-2} - (-sin(x+4y)(1+4=) = 2$ =>  $10x^{2}y \frac{dy}{dx} - 3\frac{dy}{dx} = -3x^{2} - 10xy^{2} = -3sin(x+4y) + 4sin(x+4y)^{4} = 2$ =>  $\frac{dy}{dx} = \frac{-3x^{2} - 10xy^{2}}{10x^{2}y - 3} = \frac{-3x^{2} - 10xy^{2}}{4x} = \frac{-3x^{2} - 10xy^{2}}{4x} = \frac{-3x^{2} - 10xy^{2}}{4x} = \frac{-3x^{2} - 10xy^{2}}{5in(x+4y)} = \frac{-3x^{2} - 10xy^{2}}{4x} = \frac{-3x^{2} - 10xy^{2}}{5in(x+4y)}$ 

(23)  $f(x) = x^2 - 5x - 6 = f(x) - f(x)$ =  $f'(x) = \int_{x}^{x} \frac{f(x + \Delta x) - f(x)}{\Delta x} - \frac{f(x)}{\Delta x} - \frac{f(x$ pg 5ive  $= \lim_{\substack{(x+bx)^2 - 5(x+bx) - 6 - (x^2 - 5x - 6) \\ Dx}} \sum_{\substack{x \to 0}} \sum_{\substack{x \to 0} \sum_{\substack{x \to 0}} \sum_{\substack{x \to 0}} \sum_{\substack{x \to 0}} \sum_{\substack{x \to 0} \sum_{\substack{x \to 0}} \sum_{\substack{x \to 0}} \sum_{\substack{x \to 0} \sum_{\substack{x \to 0}} \sum_{\substack{x \to 0}} \sum_{\substack{x \to 0} \sum_{\substack{x \to 0} \sum_{\substack{x \to 0} \sum_{\substack{x \to 0} x \xrightarrow{x \to 0} \sum_{\substack{x \to 0} x \xrightarrow{x \to 0} x \xrightarrow{$ = Li 2x Ax + Ax2 - 5AX = h: AX(2X+DX-5) AX= AX = h= (2x+0x-5) = 2x+0-5 = 2x-5 9 iven start with dy = 2  $x^{2}+y^{2}=z^{2}$  dt = -1 dx - dt NO y = 4 dy - dt NO y = 4 dy - must eliminate = 2 dy (-1)24. Find dy

Pg bix FIND: de = V=TTraf dx=-12 h=300 V=TIT the real must summer to the de de de de de de sou sou de de de sou sou de de de sou sou de de de sou sou de de de sou sou de de sou de sou de de sou de sou de de sou de sou de sou de de sou de sou de sou de de sou == V= Tr (3r) 50 V=TT313 >> V= 3TT r3 => dV = 9TTr => -12 = 9TT (4) 2 dr = -12 m => dA = 8 TT (3) (6) dt = [144TT cm<sup>2</sup>/se  $\frac{3}{\frac{36\pi}{\sqrt{3}\pi}} = r^3 \Rightarrow 27 = r^3$